TRICAE R E R TR A W (8A)
B ST K FERS A B S s 5/ —

I RBGERET
I. 5285 (T 553 5 SR R B D
) &R (T0) [ /K & (mm) H M s [ (h)

ARAE PR 7 AP = S 7
A 29.3 | 281 [ +1.2 15 | 637 | —62.2| 99.1 [ 81.1 | +18.0
A 29.7 | 28.0 [ +1.7| 235 | 534 | -29.9| 305 [ 71.2 | -40.7

T A - 27.4 - - 55.9 - - 78.9 -
MARFEF A OMEIZS/11-8/14DF —Z THEL THET(8/15-8/200F —Z I A->TWEFA),

II. JHFERDFELERI
(& @Ew]

ST MR, BT, SEBRT, RIAT, ERET IR A 8/9,13

. I EE % 7 [ ey S . .

B e B ROl WmE ROR O
oo =) 7 1 0 0 0 8 12.5 31 % W O OE %: 0.0
(R wmR) 7 0 0 0 0 7 0.0 0.0 0.0
( ™ o) 0 1 0 0 0 1 100.0 25.0 0.3
L W 5 3 0 0 0 8 37.5 9.4 3 W 1.1
(R wmR) 4 3 0 0 0 7 42.9 10.7 1.29
( ™ o) 1 0 0 0 0 1 0.0 0.0 0.0
N B VR 8 0 0 0 0 8 0.0 0.0 % W Bk F %): 0.0
MO R R 8 0 0 0 0 8 0.0 0.0 % W Bk F %): 0.0
I 8 0 0 0 0 8 0.0 0.0 % % E : 0.0

= Hh A A A 8 0 0 0 0 8 0.0 0.0 # F KK = ®W: 0.0
vty my v 6 2 0 0 0 8 25.0 6.3 M/ Bk (8 ) 0.0
(EE B ) 5 2 0 0 0 7 28.6 7.1 0.0
( ™ o) 1 0 0 0 0 1 0.0 0.0 0.0
FE fwwy sy 7 1 0 0 0 8 12.5 3.1 %/ Bk CEE ) 0.0
(R wmR) 6 1 0 0 0 7 14.3 3.6 0.0
( ™ o) 1 0 0 0 0 1 0.0 0.0 0.0
YvZugang 3 4 1 0 0 8 62.5 188 M ¥ / Kk ( EE ) 2.6
(W R) 3 3 1 0 0 7 57.1 17.9 1.9
( ™ o) 0 1 0 0 0 1 100.0 25.0 0.4
f‘f‘é‘ﬂﬁéggﬁj 6 1 1 0 0 8 25.0 9.4 th %% /207 ) () 08
(R wmR) 5 1 1 0 0 7 28.6 10.7 0.9
( ™ o) 1 0 0 0 0 1 0.0 0.0 0.0
TEFEav A 6 2 0 0 0 8 25.0 6.3 %/ Bk (FH ) 0.0
(R wmR) 5 2 0 0 0 7 28.6 7.1 0.0
( ™ o) 1 0 0 0 0 1 0.0 0.0 0.0
a7 A AN 7 1 0 0 0 8 12.5 3.1 e FE OB R ®: 1.0
(R wmR) 7 0 0 0 0 7 0.0 0.0 0.0
( ™ o) 0 1 0 0 0 1 100.0 25.0 8.0
a7 A AN 7 1 0 0 0 8 12.5 3.1 EfrefEofkERER%): 0.1
(R wmR) 7 0 0 0 0 7 0.0 0.0 0.0
( ™ o) 0 1 0 0 0 1 100.0 25.0 0.5
T OF E A 8 0 0 0 0 8 0.0 0.0 % 9 J : 0.0
H OE MO 8 0 0 0 0 8 0.0 0.0 3 ] i3 0.0
£FEVY ¥ 8 0 0 0 0 8 0.0 0.0 41 % /25 Bk ( fH ): 0.0
A X 7B ANy 8 0 0 0 0 8 0.0 0.0 ™ ¥ /25 Bk (B ) 0.0

BRI o FEETROIPNRT, ZREHET), AMA S T (H EFRT BRAET), PR HdEART, 11 D Ry)
FEOES . UERBET




RECEHET BRBPET, ARET Bz T, SIS T, SEP)IT, AR, R LUET, =4fdisiA: 8/9,13

5 7 o 4 RERERES K Jom RER mtonn oo
T A -
E A =) 9 12 2 0 0 23 60.9 174 % B K 4.2
(b & &) 6 6 1 0 0 13 53.8 15.4 2.2
( m ) 3 6 1 0 0 10 70.0 20.0 6.8
BMow 3 b 14 1 0 0 0 15 6.7 L7 % 9% fE O %: 0.0
(b & &) 12 1 0 0 0 13 7.7 1.9 0.0
( m ) 2 0 0 0 0 2 0.0 0.0 0.0
X Fili ] 5 14 1 2 1 23 78.3 283 O OBE O W 16.3
(b & &) 2 8 0 2 1 13 84.6 34.6 21.5
( m ) 3 6 1 0 0 10 70.0 20.0 9.6
& A K HE B 15 0 0 0 0 15 0.0 0.0 ¥ % B F (%: 0.0
o E W 22 0 1 0 0 23 4.3 22 ¥ W OBR OFE ) 0.5
(b & &) 12 0 1 0 0 13 7.7 3.8 0.9
( m ) 10 0 0 0 0 10 0.0 0.0 0.0
fa = 2 U ¥ 15 0 0 0 0 15 0.0 0.0 3 % #H F ®: 0.0
woOE M W 21 2 0 0 0 23 8.7 22 ¥ W OB O ®%): 1.0
(b & &) 12 1 0 0 0 13 7.7 1.9 0.9
( m ) 9 1 0 0 0 10 10.0 2.5 1.2
woOE M W 21 2 0 0 0 23 8.7 22 % W 0.3
(b & &) 12 1 0 0 0 13 7.7 1.9 0.2
( m ) 9 1 0 0 0 10 10.0 2.5 0.3
EARNE T A 0 20 3 0 0 23 100.0 28.3 A Bt/ Bk (BH): 0.8
(b & &) 0 11 2 0 0 13 100.0 28.8 0.8
( m ) 0 9 1 0 0 10 100.0 27.5 0.8
= A AN 23 0 0 0 0 23 0.0 0.0 # & ¥ F %: 0.0
Yy ey vk 7 16 0 0 0 23 69.6 174 B/ Bk (CBH ) 03
(b & &) 7 6 0 0 0 13 46.2 11.5 0.1
( m ) 0 10 0 0 0 10 100.0 25.0 0.4
[ = A 23 0 0 0 0 23 0.0 0.0 H ¥ / ¥ (8 ): 0.0
vesadasg 6 16 1 0 0 23 73.9 19.6 B %/ Bk (BH 0.8
(b & &) 4 9 0 0 0 13 69.2 17.3 0.5
( m ) 2 7 1 0 0 10 80.0 22.5 0.9
?fiﬁjy%i\%’;ﬁ) 7 10 4 2 0 23 69.6 26.1  H /2079 (HE): 3.7
(b &) 2 6 4 1 0 13 84.6 32.7 4.8
( m 5 ) 5 4 0 1 0 10 50.0 17.5 2.1
ZEAFEavYH 18 5 0 0 0 23 21.7 5.4  4h B/ Bk (BE): 0.0
(b &) 9 4 0 0 0 13 30.8 7.7 0.0
( m 5 ) 9 1 0 0 0 10 10.0 2.5 0.0
a7 ) AAN 11 5 7 0 0 23 52.2 207 & FE OBE E W): 6.6
(b & &) 5 4 4 0 0 13 61.5 23.1 6.8
( m ) 6 1 3 0 0 10 40.0 17.5 6.4
ZOF E RO 23 0 0 0 0 23 0.0 0.0 ¥ % E : 0.0
H E M W 23 0 0 0 0 23 0.0 0.0 ¥ % E : 0.0
£ i 7 23 0 0 0 0 23 0.0 0.0 ¥ % B F %: 0.0
£FE/Y ¥R 20 3 0 0 0 23 13.0 3.3 A % /25 BR (fE ) 0.3
A X700 ALY 22 1 0 0 0 23 4.3 1.1 WM ¥ /25 ¥ (8H): 0.0
s AREFARE AT, BEFET, _EARET), B T GE BFAT, kMY, TR IT), &5 1 TN S 0T, (L) T
& VEERAHEIT
P BRALUNET, =4




s T, MR T ARRETENA : 8/9

T ‘ .
pis

= B 2 (0 e FRESIA H B O AE D45
w 1 5 o L% ErEge
& IE M E kR 0 15 1 0 0 16 100.0 266 # F  E @ 108
4 F F N F 11 5 0 0 0 16 31.3 7.8 # F OFE E %): 0.8
N = 15 1 0 0 0 16 6.3 1.6 % &£ ¥E F %: 0.2
AA ki 7 16 0 0 0 0 16 0.0 0.0 % 4 m B % ®%: 0.0
Antaatrygl 9 6 0 0 1 16 43.8 5.6 #F A& % F %): 9.0
HARX
EETH., HALLUITHRE: 8/9
R S K e .
i % i 4 S R memn R ORI
w L % HE A
77T LV 2 0 0 0 0 2 0.0 0.0  25BRH7-0 ¥ (E): 0.0
S EI B WNIS | 2 0 0 0 0 2 0.0 0.0 258kM7=0HE%@EE): 0.0
NAELIRNY 2 0 0 0 0 2 0.0 0.0 258kM7=0HE%@EE): 0.0
NAELIRNY 2 0 0 0 0 2 0.0 0.0 & &H JE : 0.0
~ & 7 2 0 0 0 0 2 0.0 0.0 3 : 0.0




E

S T WEIHTET PR POA A 8/9

# - .
5 % 0 S R memn R ORI
w L % o AR
z 9 W 6 1 1 0 0 8 25.0 9.4 REORBFEE: 27
VA AN | 3 3 1 1 0 8 62.5 25.0 T A& B oM OE . 42
IH K = 4 4 0 0 0 8 50.0 125 HIE DO HFEFE: 59
IHUNETVH 2 4 2 0 0 8 75.0 25.0 HF A R 5.6
T XTH3I%Y 8 0 0 0 0 8 0.0 0.0 10BfY7=0EAEmEED: 0.0
AH T
FEJES T, A LMY EBRIT PR, BRIT RS : 8/9
A RR B 5 K .
5 9 4 . WHEEE R ORAEORE
e i e -
A S R 5 1 6 1 0 0 8 87.5 25,0 REORBFEE: 6.1
= =y ] 8 0 0 0 0 8 0.0 0.0 REORFEE: 0.0
9 M K 7 1 0 0 0 8 12.5 3 FEORERBEE: 0.1
I 7 1 0 0 0 8 12.5 30 BEOERIFRE: 05
VA AN | 2 5 1 0 0 8 75.0 21.9 F A& ¥ oM ¥ . 33
SHNE = 6 2 0 0 0 8 25.0 6.3 FIEOFAEFE: 04
IR = 8 0 0 0 0 8 0.0 0.0 1f47-vpERE: 0.0
IHUNEZTVH 1 5 0 2 0 8 87.5 344 #H & £ . 109
T HTHIXY 8 0 0 0 0 8 0.0 0.0 108 %70 %&b E): 0.0
> v
A FSTH ., FASSHTRAA: 8/9
A RR B 5 K .
5 9 4 g WHEEE R ORAEORE
o i E 2 -
fa 2 ] 7 0 0 0 0 7 0.0 0.0 % 7 F F *%): 0.0
B AN VO 7 0 0 0 0 7 0.0 0.0 #f = H £ ®): 0.0
FeA A 5 2 0 0 0 7 28.6 7.1 #F o= OB O ®): 0.3
NOF = H 3 2 2 1 0 8 62.5 28.1 FH A& E L W): 94
A= N | 7 0 0 0 0 7 0.0 0.0 # F £ £ *: 0.0
5 8 A Z ¥ 5 2 1 0 0 8 37.5 12.5 o % jF . 3.7
iy R 7 0 0 0 0 7 0.0 0.0 % m HF = ®W): 0.0
1) RAEREREAILL FTORIRD TS,
HX1 + X2 + £X3 + HX4
AR = — il 2X3 T EXA) 100

AL R X 4



BT e TV |

50 —8— RE4FE 20184F

T

—o— K 20194

41 44 571 574 61 64 771 774 8/1 8/4 91
R/%4)
B1 FIEAUIMLY TOEVNSYTHEREHE
XISFIT . 1ATRET D41 2 F 15

40
RS
35
—=—RFE4F 20185
—o— K 20195

4,1 44 51 5/4 61 64 71 7.4 8/1 84 9.1
R/ %4
B2 FIEASUHALY DIOEVNSYTEREER
XEGRES (BREZ V4 —LER)

EE
—8— {1 4E 20184F
—— K4 2019%F

4/1 4/3 4/5 5/1 5/3 5/5 6/1 6/3 6/5 7/1 7/3 1/5 8/1 8/3 8/5 9/1
A/#8
H3 SERBAALVE(FXYNRTIAALY INTAAALY D
YXAALD)TIOEV NSV TH R (B FHET)

3000 r
2,500 L
== 4F 20184

==K IF 20194

500 | o o 9
09%e® \ /% \ !
0 ..........M‘M % =

4/1 4/3 4/5 5/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5 9/1
A/44
H4 FEAICEDREDALIBINTF+F oL +IHIDH
35K (B AT



100

80

60

(Y00 )38 20 B

800
700
600
£% 500

200
100

EE
- =E=RHI4E 20184
== AL 20194

Y
‘900,
.. e . . .

4/1 4/3 4/5 5/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5 9/1
A/%8
5 FRAICEDREBHALVEYNVYTE+Fv\R+0Y
FDOFHH(LARET)

D=3
r —m— R4 20184
—— K4 20195

DD O — AN M T WO O — AN MIFT WO O© — N
NN N N N N N N N N N N N N N
© O~ M~~~ 00 0 00 0 0 o o O
_ N : U
®6 AAZ/NAHTzAEIRSYTERK
*BAG T = 47 8 £ BT 5 BT () 6 Hh &5 SE 447

H R
F

- TE
L —B— FT4E 20184F
—o— K4F 20194

5/1 5/3 5/5 6/1 6/3 6/5 7/t 1/3 1/5 8/1 8/3 8/5 9/1

R/ %
7 NREVIRY 7Inwt_>l~5‘y7°%%‘£§ﬁﬁ$§(¥%§i%)
* (B BT, A FET, R, S ), RA KL LEL, = F D otth s S 1

S-S
r —8—H 4 20184
—0— R4 20194

/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5 9/1
B/ ¥4
H8 L AA/FECIALY JIOEVINSYIH R (FEES)
* B BT, B FHE MRS, S O 7#h S T



300

250

200

150

(B0 )38 03 B

100

50

1,400
1,200
__1,000
% 800

600

€}

400
200

D3
—l—Ri4E 20185
—0— K 20195

5/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5 9/1
R34
E9 NREVILY JTOEVSYTERBHER (T YT IEEE)
* fE ST IR A EET D4 R F 1Y

T
L —m— B 4E 20184F
—0— A 20195

5/1 5/3 5/5 6/1 6/3 6/5 7/1 1/3 1/5 8/1 8/3 8/5 9/1

R/ #4)
B10 YO/ FESILY TxOEUMSYTERBHER (Y EEHIE)
* BT IRFI,AATERT ) 48t 2R 49



